6.3-6.7 Practice Test

Name

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.
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The rectangular coordinates of a point are given. Find polar coordinates of the point. Express 0 in radians. ( .
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Write the complex number in rectangular form.
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Use DeMoivre's Theorem to find the indicated power of the complex number. Write the answer in rectangul;§ form. _ =
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Find all the complex roots. Write the answer in the indicated form
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23) The complex square roots of 4(cos 120° + i sin 120°) (polar form)

Find the specified vector or scalar.
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question. G
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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.
Find the unit vector that has the same direction as the vectorv. V. _ 121457 . ‘1' AT 13)
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.
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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Write the vector v in terms of i and j whose magmtude |v| and direction angle © are given. - "’S_L + S5
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